1. Consider the execution of the following Scheme code:
· (define x ‘((3 8) (5 (7 8) 9)))
· (define y (list 1 2 3 ‘(5 6 7) (cadadr x))
· (define z (cons x y))
· (define a (append x z))

Draw “box and pointer” diagrams that show the relationships among the pairs created by the execution of the code above in that order. On the left side, draw the “box and pointers” and on the right, write what would be outputted in Scheme for each of the variables x, y, z, and a.
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2. Consider the following procedure. Fill out the lexical address table for each variable listed.

(lambda (a b c)
	(lambda (c d)
		(let* ([a c]
  [e d])
			(b a e))))

	
	a
	b
	c
	d
	e

	Lexical depth
	
	
	
	
	

	Lexical position
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1. Consider the following procedure. Fill out the lexical address table for each variable listed.

(lambda (a b c)
	(lambda (c d)
		(let* ([a c]
  [e d])
			(b a e))))

	
	a
	b
	c
	d
	e

	Lexical depth
	1
	3
	0
	1
	0

	Lexical position
	0
	1
	1
	1
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